< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

-3 -2 0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

wn'_"::n'un'uu TTTT

0 1 2 3
TP n (PCA to beamline)

—— DQM_V0001_R000000001__Global_CMSSW_ckfPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO

100r !

0 1 2 3
TP n (PCA to beamline)

|
w

|
N

5: H H H
= I
st
2 .
4 I R e
of 8 i
ST I
B 1311 AR 4
-3 {{{#¢ -
"3 ' .....
_5:. | ] I | ]

B | | T A [ e

. : E : i ;

2 K LT TR T
i [ L A#E 1 h

|
w

|
N

|
[

0 1 2 3
TP n (PCA to beamline)

—~

100

.

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


